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QUESTION 1

Click the Exhibit button.

---- Exhibit Missing ---

Referring to the exhibit, which three statements are correct? (Choose three.)
A. R1 and R3 can form a Layer 2 I1S-IS adjacency.

B. R2 and R4 can form a Layer 1 IS-IS adjacency.

C. R3 and R4 can form a Layer 2 I1S-IS adjacency.

D. R1 and R3 can form a Layer 1 1S-IS adjacency.

E. R3 and R4 can form a Layer 1 IS-IS adjacency.

Correct Answer: ACD

QUESTION 2

Referring to the exhibit, which interface is assigned the active VIP?

Internet
1 2
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Router A .——'! L._—"I . — |'H_—_J‘ l—}'. Router B
IP=. 1 j N, Lnterface ge-0/0/2 { \EJ P=2
VIP = 254 n_F priocity-cost 20; VIP = 254
Prioriy = 110 é : ' % Priority = default

10.1.1.0124

userfiroutardA> show vrrp track detail
Tracked interface: ge-0/0/2.0
State: down, Spesd: lg
Incurred prlority coat: 20
Tracking VRRP interface: ge-0/0/1.0,
Group: 1 [
VR State: backup |
Current priority: 90, Confligured
priority: 110
Priority hold-time: disabled
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A. Router A ge-0/0/2
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B. Router B ge-0/0/1
C. Router A ge-0/0/1
D. Router B ge-0/0/2

Correct Answer: B

QUESTION 3

Given the exhibit, which two statements are correct regarding the graceful-restart state for the BGP groups? (Choose
two.)

JNO-349 PDF Dumps | JN0-349 Study Guide | JNO-349 Braindumps 3/6


https://www.pass4itsure.com/jn0-349.html
https://www.pass4itsure.com/jn0-349.html
https://www.pass4itsure.com/jn0-349.html

VCE & PDF https://www.pass4itsure.com/jn0-349.html
2024 Latest passditsure JNO-349 PDF and VCE dumps Download

PassditSure.com

[edit]
userffhost# shew protocels bgp group IBGE
type internal;
local—-address 7.7.7.7;
export noroutes-filter;
graceful-restart {
restart-time 100;
}
neighbor 1.1.1.1 {
accept—remote—-nexthop;
import fix-mnexthop;
family inet {
unicast;
}
family ineté {
unicast;

}
neighbor 2.2.2.2;

[edit]
userffhost# shecw protocels bgp group EBGE
type external;

multipath:
neighbor 1%8.168.4.2 {

family inet {
unicast;
}

peer—as 100:
local—-as 15169;
multipath;

}

neighbor 198.168.5.2 {
family inet {

unicast’

}
peer—as 100;
local—as 1516%;
multipath;

H

neighbor 198.168.6.2 {

family inet {
unicasts:

}
peser—-as 100;
local—-as 15169;
multipath;

}

[edit]

useridhost# show routing-options gracetul-restart

disable;
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A. The graceful-restart capability will be enabled for group IBGP.
B. The graceful-restart capability will be disabled for group IBGP.
C. The graceful-restart capability will be disabled for group EBGP.
D. The graceful-restart capability will be enabled for group EBGP.

Correct Answer: AC

QUESTION 4

Click the Exhibit button.

R1
Priority 128

R2
Priority 64

AL
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R3
Priority 160

Uy,

RS
Priornty 32

Referring to the exhibit, which router will be selected as the DR?
A.R1
B. R5
C.R4
D.R3

Correct Answer: D

QUESTION 5

Which statement describes BFD?
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A. BFD rapidly detects link failures.

B. BFD provides route loop protection.

C. BFD provides broadcast storm protection.

D. BFD provides high availability with multiple Routing Engines.

Correct Answer: A
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